

## **Directorate of Operations & Systems**

Office of JGM (Rolling Stock), Train Maintenance Depot Email: jgmrs@jaipurmetrorail.in; Tel No.: 0141-5153712 Near Ganga Jamuna Petrol Pump, Mansarovar, Jaipur-302020

LOA No.: 16.1.1.3.0023 1033

Tender No.: JMRC/O&S/RS/2016-17/NIB/005

Date: 11.08.2016

"By Speed Post/Hand"

To,

HARIHAR PRINTERS, J-97 Ashok Chowk,Adarsh Nagar Jaipur-302004 Phone No.- 9414043763 Fax- 0141-2600850 Email Id: hariharprinters1@gmail.com (Kind attention :- Mr. Harikishan Chauhan)

#### LETTER OF ACCEPTANCE

**Sub:** Tender for "RFP for ANNUAL RATE CONTRACT FOR SUPPLY OF PRINTING MANUALS & PUBLICITY MATERIALS FOR JMRC, JAIPUR"

Ref: Your Tender offer for Tender Number JMRC/O&S/RS/2016-17/NIB/005

Dear Sir,

With reference to the above, Jaipur Metro Rail Corporation (JMRC) is pleased to accept your offer (in response to our Tender No. JMRC/O&S/RS/2016-17/NIB/005 for "RFP for ANNUAL RATE CONTRACT FOR SUPPLY OF PRINTING MANUALS & PUBLICITY MATERIALS FOR JMRC, JAIPUR" and through this Letter of Acceptance, JMRC awards the contract to Harihar Printers through their authorised signatory, for a period of one year from the date of commencement, for an amount of Rs.9,43,152.30(Rs.Nine lac forty three thousand one hundred fifty two rupees and thirty paisa only) as per the accepted rates in the attached bill of quantities and schedules there in inclusive of materials, manpower, machinery, tools, fixtures, transportation charges, other charges and all taxes, duties &leviesetc (except VAT, which will be paid extra as applicable).

The award is subject to but not limited to the following conditions:

#### 1) Payment:

- a) Payment will be made as per Clause 4.7of Bid Document and other relevant conditions of the bid document.
- b) The quantity or work may vary as per requirement during contract period.
- Contract Price shall be inclusive of all taxes, duties, royalties etc. Nothing extra (except VAT as applicable) shall be payable over the accepted rates.

#### 3) Contract Agreement

- a) Within 15 days from the date of acceptance of the letter of acceptance (LOA), you will be required to execute the Contract Agreement.
- b) It may please be noted that until a contract agreement is executed, this letter will constitute a binding contract between you and JMRC.
- c) Prior to signing of the Contract Agreement, you shall submit the following documents within a period of 07 days from the date of acceptance of the Letter of Acceptance:
  - i) Performance Security (Performance Guarantee) An amount of Rs. 9,432/- (Nine thousand four hundred thirty two only). As per clause 3.8(iii.) of Instructions to bidders (ITT).

Jan 8/11/8

Page 1 of 8



## **Directorate of Operations & Systems**

Office of JGM (Rolling Stock), Train Maintenance Depot Email: jgmrs@jaipurmetrorail.in; Tel No.: 0141-5153712 Near Ganga Jamuna Petrol Pump, Mansarovar, Jaipur-302020

#### 4) Contract Period:

The Contract period is for 1 year from the day of acceptance of the Letter of Award (LOA) as per clause 4.2 and extendable as per RTPPR.

#### 5) Commencement of the work:

- As per the work requirements, from time to time, JMRC shall issue work order to the successful Tenderer for supply of various items as mentioned in this Rate Contract.
- 2. The work order shall specify the quantity of various items to be supplied along with location details and delivery schedule for supply.

#### 6) Penalty:

Penalty and deductions will be applicable as per Clause 4.8of the Bid Document and other conditions of tender.

#### 7) Unconditional acceptance

- a) You shall unconditionally comply with all conditions as mentioned in the Bid Documents including Corrigendum, Minutes of Pre-bid Meeting, Response to Queries, Clarifications and this Letter of Acceptance.
- b) JMRC does not accept any deviation and/or reservation from the bid conditions if mentioned by you in your offer.
- c) This letter of acceptance is being sent to you in duplicate. You are requested to return one copy of this letter duly signed on all pages as a token of your unconditional acceptance thereof so as to reach the undersigned within 4 days of the receipt of this letter.

Encls: 1.Annexure-A: Bill of quantities

DESPATCH CANONICAL PROPERTY OF THE PROPERTY OF

Yours Sincerely

Jt. General Manager(RS)

Jaipur Metro Rail Corporation Ltd.

Copy: D(O&S), ED/RS, GM/RS, GM/Finance



#### **Directorate of Operations & Systems**

Office of JGM (Rolling Stock),Train Maintenance Depot Email: jgmrs@jaipurmetrorail.in; Tel No.: 0141-5153712 Near Ganga Jamuna Petrol Pump, Mansarovar,Jaipur-302020

**ANNEXURE A** 

#### **BILL OF QUANTITIES**

#### **ACCEPTED RATES**

Contract no.: JMRC/O&S/RS/2016-17/NIB/005

S.N o. (A)	Particula rs (B)	Specifications (C)	Unit (D)	Est. Quanti ty (E)	Rate /unit (In Rs.) (F)	Total Cost (In Rs.) (G)	Rate/Un it quoted by Firm (H=F*90 /100)	Total Cost quoted by firm(In Rs.) (I=G*90/100)
		MISCELLANEOUS PRINTED	MATERIA	L ON ITE	M RATE			
1.	A0 Size Printed	A0,Black and White, paper quality 70 GSM, super Sunshine single side printing	Per page	200	110.00	22000	99.00	19800
2.	Material	A0, Multi color, paper quality 70 GSM, super Sunshine single side printing	Per page	200	170.00	34000	153.00	30600
3.	A1 Size Printed	A1,Black and White, paper quality 70 GSM, super Sunshine single side printing	Per page	200	40.00	8000	36.00	7200
4.	Material	A1, Multi color,paper quality 70 GSM, super Sunshine single side printing	Per page	200	80.00	16000	72.00	14400
5.		A3, Black and White, paper quality 80 GSM, super Sunshine single side printing	Per page	18000	0.96	17280	0.86	15480
6.	A3 Size	A3, Black and White, paper quality 80 GSM, super Sunshine Double side printing	Per side of the page	850	0.8	680	0.72	612
7.	material	A3,Multi color ,paper quality 80 GSM, ,single side printing	Per page	400	1.6	640	1.44	576
8.		A3,Multi color ,paper quality 80 GSM, ,double side printing	Per side of the page	100	1.4	140	1.26	126
9.	A3 Cover	A3, Multi color print, paper quality – front and	Per cover	200	16	3200	14.40	2880





## **Directorate of Operations & Systems**

Office of JGM (Rolling Stock), Train Maintenance Depot Email: jgmrs@jaipurmetrorail.in; Tel No.: 0141-5153712 Near Ganga Jamuna Petrol Pump, Mansarovar, Jaipur-302020

S.N o. (A)	Particula rs (B)	Specifications (C)	Unit (D)	Est. Quanti ty (E)	Rate /unit (In Rs.) (F)	Total Cost (In Rs.) (G)	Rate/Un it quoted by Firm (H=F*90 /100)	Total Cost quoted by firm(In Rs.) (I=G*90/100)
	Page	back cover on Art paper of 300 GSM Gloss laminated with Pin/soft / glue binding	page set (front and back)					
10.		A4, Black and White, paper quality 80 GSM, super Sunshine single side printing	Per page	71000	0.48	34080	0.43	30530
11.	A4 Size Printed	A4, Black and White, paper quality 80 GSM, super Sunshine Double side printing	Per side of the page	40000 0	0.40	160000	0.36	144000
12.	Material	A4, Multi color, paper quality 80 GSM, single side printing	Per page	500	0.80	400	0.72	360
13.		A4, Multi color, paper quality 80 GSM, Double side printing	Per side of the page	200	0.70	140	0.63	126
14.	A4 Cover Page	A4, color Multi color print, paper quality – front and back cover on Art paper of 300 GSM Gloss laminated with Pin/ soft / glue binding	Per cover page set (front and back)	134	8	1072	7.20	964.80
15.		A5 Black and White, paper quality 80 GSM, super sunshine ,single side printing	Per page	10000	0.28	28000	0.25	25000
16.	A5 Size printing material	A5 Black and White, paper quality 80 GSM, super sunshine ,Double side printing	Per side of the page	22160	0.20	4432	0.18	3988.80
17.		A5 ,Multi color print ,paper quality 80 GSM, ,single side printing	Per page	400	0.48	192	0.43	172
18.		A5 ,Multi color print ,paper quality 80 GSM, ,Double side printing	Per side of the page	100	0.39	39	0.35	35

Did 11/8/2013



# **Directorate of Operations & Systems**

Office of JGM (Rolling Stock), Train Maintenance Depot Email: jgmrs@jaipurmetrorail.in; Tel No.: 0141-5153712 Near Ganga Jamuna Petrol Pump, Mansarovar, Jaipur-302020

S.N o. (A)	Particula rs (B)	(C)	Unit (D)	Est. Quanti ty (E)	Rate /unit (In Rs.) (F)	Total Cost (In Rs.) (G)	Rate/Un it quoted by Firm (H=F*90 /100)	Total Cost quoted by firm(In Rs.) (I=G*90/100
	A5 Cover Page	A5, Multi color print, paper quality – front and back cover on Art paper of 300 GSM Gloss laminated with Pin/soft/glue binding	Per cover page set (front and back)	500	6.00	3000	5.40	2700
20.	A5/2 Size	A5/2, Black and White, paper quality 80 GSM, super Sunshine single side printing	Per page	50000	2.00	100000	1.80	90000
21.	Material	A5/2, Black and White, paper quality 80 GSM, super Sunshine Double side printing	Per side of the page	500	4.00	2000	3.60	1800
22.	A5/2 Cover Page	A5/2, Multi color print, paper quality – front and back cover on Art paper of 300 GSM Gloss laminated with Pin/soft / glue binding	Per cover page set (front and back)	500	10.00	5000	9.00	4500
23.	A6 Size Printed	A6, Black and White, paper quality 80 GSM, super Sunshine single side printing	Per page	68000	1.90	129200	1.71	116280
24.	Material	A6, Black and White, paper quality 80 GSM, super Sunshine Double side printing	Per side of the page	250	3.80	950	3.42	855
	A6 Cover Page		Per cover page set (front and back)	500	10	5000	9.00	4500
_	B5 Size Printed 9 Material 9	super Sunshine single side printing	Per page		2.30	55200	2.07	49680
27.		B5, Black and White,	Per	500	4.60	2300	4.14	2070





## **Directorate of Operations & Systems**

Office of JGM (Rolling Stock), Train Maintenance Depot Email: jgmrs@jaipurmetrorail.in; Tel No.: 0141-5153712 Near Ganga Jamuna Petrol Pump, Mansarovar, Jaipur-302020

S.N o.	Particula rs	Specifications (C)	Unit (D)	Est. Quanti	Rate /unit (In Rs.)	Total Cost (In Rs.)	Rate/Un it	Total Cost quoted by
(A)	(B)			ty (E)	(F)	(G)	quoted by Firm (H=F*90	firm(In Rs.) (I=G*90/100)
							/100)	
		paper quality 80 GSM, super Sunshine Double side printing	side of the page	•				
28.	B5 Cover Page	B5, Multi color print, paper quality – front and back cover on Art paper of 300 GSM Gloss laminated with Pin/soft / glue binding	Per cover page set (front and back)	500	14.00	7000	12.60	6300
				BINDING				
29.	Spiral	paper size A3/A4	Per -	193	17.00	3281	15.30	2952.90
30.	Binding	paper size A5	Bookle t	500	14.00	7000	12.60	6300
31.		paper Size A 3	Per Bookle t	500	15.00	7500	13.50	6750
32.	Side Pin	paper Size A 4		500	20.00	10000	18.00	9000
33.	Soft Binding	paper Size A 5		171	20.00	3420	18.00	3078
34.	billuling	paper Size A 5/2		500	10.00	5000	9.00	4500
35.		paper Size A 3	Per Bookle	73	180.00	13140	162.00	11826
36.	Gatta	paper Size A 4		2192	50.00	109600	45.00	98640
37.		paper Size A 5		753	24.00	18072	21.60	16264.80
38.		Page Size – A5/2		500	24.00	12000	21.60	10800
39.	Cover)	Page Size – A6		425	24.00	10200	21.60	9180
40.		Page Size – <b>B5</b>		170	30.00	5100	27.00	4590
41.	One	paper Size A 3		500	34.00	17000	30.60	15300
42.	Sided	paper Size A 4		500	28.00	14000	25.20	12600
43.	Gatta Binding	paper Size A 5		500	24.00	12000	21.60	10800
44.	(One	Page Size – A5/2	Per	500	24.00	12000	21.60	10800
45.	side soft	Page Size – <b>A6</b>	Bookle	500	24.00	24000	21.60	21600
46.	cover & another side hard cover)	Page Size – <b>B5</b>	t	500	30.00	15000	27.00	13500
			Publ	icity Mat	erial	ļādinā i		
47.	Pamph- lets A4	A4 Size, single side printed, Multicolour, 170 GSM	Per pamph -let	500	1.3	650	1.17	585
48.	Pamph-	A4 Size, both side	Per	500	2.6	1300	2.34	1170





## **Directorate of Operations & Systems**

Office of JGM (Rolling Stock), Train Maintenance Depot Email: jgmrs@jaipurmetrorail.in; Tel No.: 0141-5153712 Near Ganga Jamuna Petrol Pump, Mansarovar, Jaipur-302020

S.N	Particula	Specifications	Unit	Est.	Dot- /			
o. (A)	rs (B)	(C)	(D)	Quanti ty (E)	Rate /unit i (In Rs.) (F)	Total Cost (In Rs.) (G)	Rate/Un it quoted by Firm (H=F*90 /100)	Total Cost quoted by firm(In Rs.) (I=G*90/10
	lets A4	printed, Multicolour, 170 GSM	pamph -let				7100)	A control of the cont
49	Pamph- lets A5	A5 Size, single side printed, Multicolour, 170 GSM	Per pamph -let	500	0.6	300	0.54	270
50	Pamph- lets A5	A5 Size, both side printed, Multicolour, 170 GSM	Per pamph -let	500	1.4	700	1.26	630
51.	Printed Flex	i) Normal quality of flex	Per square feet	500	7	3500	6.30	3150
	Material	ii) Star quality of flex	Per square feet	200	11	2200	9.90	1980
53.	Printed Flex Material	i) Normal quality of flex	Per square feet	500	25	12500	22.50	11250
54.	with frame	ii) Star quality of flex	Per square feet	200	29	5800	26.10	5220
55.	Printed Flex Material	i) Normal quality of flex	Per square feet	500	68	34000	61.20	30600
56.	with Stand	ii) Star quality of flex	Per square feet	200	76	15200	68.40	13680
	Pocket booklet s	Size 4.25X5.5(inch), Page near about 100, cover four color	Per Bookl et	500	68	34000	61.20	30600
4-10	-10	in Rs. =9,43,152.30		Total	Cost in Rs.	10,48,408	9	9,43,152.30

Note:

1) The design shall be as per JMRC.



# **Directorate of Operations & Systems**

Office of JGM (Rolling Stock), Train Maintenance Depot Email: jgmrs@jaipurmetrorail.in; Tel No. : 0141-5153712 Near Ganga Jamuna Petrol Pump, Mansarovar, Jaipur-302020

- 2) The rates quoted above are FOR prices & delivery of finished goods shall be made by Agency at its own cost, for which no extra payment will be made by JMRC.
- 3) The rates are inclusive of all labour, transportation, material, taxes etc except VAT. 4) VAT shall be paid extra as applicable.
- 5) The quantity or work may vary as per requirement during contract period.
- 6) The payment will be made only for the work actually carried out during contract 7) All amounts to be in Rs..

Jt. General Manager(RS) Jaipur Metro Rail Corporation Ltd.